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1. Which one of the following is non crystalline or
amorphous in nature?
(A) Diamond
(B) Graphite
(C) Common salt
(D) Glass

2. An element with atomic mass 100 has a bcc
structure and edge length 400 pm. The density
of element is:

(A)10.37 gcm™
(B) 5.19 gcm™®
(©) 7.29 gcm’3
(D) 2.14 gcm™®

3. Coordination number of ClI" ion in NaCl
structure is:
(A) 2
(B)6
@3
(D)4

4. The point defect which lowers the density is:

(A) Frenkel defect

(B) Schottky defect

(C) Metal excess defect
(D) None of the above

1. it § 9 &9 91 319 st
Ui o182
(A) BRI
(B) YpTSC
(C)‘GIT‘EIR'UTW
(D) Him @1
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(A)10.37 gcm™
(B) 5.19 gcm
(C) 7.29 gcm'3
(D) 2.14 gcm®

3. NaCl B! TRET & €I 3T 1 JH<G TBTT 8

(A) 2
(B) 6
3
(D)4
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5. 234.2 g of sugar syrup contains 34.2 g of
sugar.What is the molal concentration of
the solution?

(A) 0.1Tm
(B) 0.5m
(C) 5.5m
(D) 55m

6. Faraday's law of electrolysis is related
to:
(A) atomic number of cation
(B) speed of cation
(C) speed of anion
(D) equivalent weight of metal

7. The charge required for reducing 1 mole of
MnO* to Mn ** is

(A) 1.93X 10° C
(B) 2.895X 10° C
(C)4.28 X 10° C
(D) 4.825X10° C

8. The Sl unit of molar conductivity is :
(A) Scm?mol
(B) S* cm-"
(©) S'em?mol™?
(D) Scm?mol™

9. Which concentration unit is independent of
temperature?
(A) Molarity
(B) Molality
(C) Normality
(D) Formality

10.200 mL water is added to 500 mL of 0.2M
solution. What is the molarity of the diluted
solution?

(A) 0.5010M
(B) 0.2897M
(C) 0.7093M
(D) 0.1428M
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(A) 0.1m
(B) 0.5m
(C) 5.5m
(D) 55m
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(A ) YT T GRHTY] TBAT
(B) YT &I T1fd
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7.T& Oid MnO* &I Mn** T 3fddhd
A & 7T 3MTages M9 &1 AET
gt

(A)1.93X10° C

(B) 2.895 X 10°C
(C) 428 X 10° C
(D) 4.825X10° C

8. HIeR TTeIdhdl B S| TS ¢
(A) Scm 2 mol ™
(B) S* cm-
(©) S'em?mol®
(D) Sem™?mol?

9. Fufafaa & ¥ & < igar, aU R
ik 78t et 82

(A) AT

(B) HiaTard

(C) ATerar

(D) WIHedT

10.0.2 M & 500m| fae@a & 200 mI ST fHremar Smar
g1 U faeae ot Hiarar gt 2

(A) 0.5010M
(B) 0.2897M
(C) 0.7093M
(D) 0.1428M




11. Froth floatation method is used for the
concentration of
(A) oxide ores
(B) sulphide ores
(C) carbonate ores
(D) chloride ores

12. Calamine is an ore of
(A) Zinc
(B) Aluminium
(Q) Iron
(D) Copper

13.Flux (SiO;) is used to remove:

(A) FeO
(B) CO;
(C) SO,
(D) Cu

14. Hall Heraoult ‘s process is used for:
(A) Zn
(B) Mn
(C) Al
(D) Cu

15.What types of stoichiometric defects are
shown by ZnS?
(A) Frenkel defect
(B) Schottky defect
(C) Both Aand B
(D) none of the two.

16.The impurities present in a mineral is called
(A) flux
(B) gangue
(C) ore
(D) slag

17. Lucas test is used to distinguish between:

(A) primary, secondary and tertiary alcohols
(B) aldehydes and ketones

(C) benzene and toluene

(D) aromatic and aliphatic acids
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(A) SIS A
(B) IPIIS 3D
(C) PTEMT 3D

(D) FIRTZS 3HTH

12. AR fhg®T 3 82
(A) fSis
(B) TegfAfay
(C) gl

(D) didT

1319 (flux ) Si0, BT IYTNT A9 A T fHT 3raT
FA P foru fpar oirar @2
(A) FeO
(B) CO,
(©) SO,
(D) Cu

14. BTd gRiee faft &1 ST grar &
(A) Zn
(B) Mn
() Al
(D) Cu

15. ZnS gRI fHT UBR & TG B 9 Ui

T STaT 82
(A) DT d Gy
(B) Wil 2N
(C) A 3R B gH
(D) T A Y BIS T5I

16.91e1 H IURT IfGTT gl © -
(A) qlddh
(8) T
(C) AUYIh

(D) HrgH
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(A) e, gl Td gedtaes Tebigiar
(B) TSETES Td dicH
(C) IS0 Wd eI
(D) WHAfeeh Td Teiitbies 3w




18.The resistance of a conductivity cell
containing 0.001 M KClI solution at 298 K
is 1500 Q .What is the cell constant if
conductivity of 0.001 M KCl solution at
298 K is 0.198 x 102 S cm™'?
(A) 0.297 cm”’
(B) 0.448 cm’'
(© 0219 cm’
(D) 0.112 cm™

19.Calculate the percentage composition of

solute in terms of mass of a solution
obtained by mixing 250 g of a 25% and 500
g of a 40% solution by mass.

(A) 35%

(B) 65%

(C) 55%

(D) 33.5%

20. The IUPAC name of —

HyC=CH— (I‘H = CHy — CHy —CH;
OH

(A) Hex-1-en-3-ol
(B) Hex-3-en-1-ol
(C) 1-ethylpropanol
(D) 3-hydroxyhexene

21. The product formed by the reaction of

H.OH*
CHy— CH = CH, ——

(A)Propan-2-ol
(B) propan-1-ol
(C) ethane
(D) Ethanal

22. Predict the product of the reaction:
{L’Ili }_I C-0C,H, —

(A) butane and ethanol

(B) propan-1-ol and ethanol

(C) butanol and methyl iodide
(D) Ethanol and tert. Butyliodide

18.298 K R U ATdehdl Ud o19H 0.001M
Kkl faea 8 &1 UfaRiy 1500 Q © |1 afe Sg AU R
0.001 M KCI &1 ITdehdT 0.198 x10 >8I al 4
fRRI® gIm:

(A) 0.297 cm’”
(B) 0.448 cm’”
(C) 0219 cm’
(D) 0.112 cm™

19. SHAMTIR 25% faeTa T 250 g dUT
40 % faaa &1 500 g FHA™ R F4
Il faerg ¥ facid &1 geqam ufda=rd 1 ghm?

(A) 35%
(B) 65%
(C) 55%
(D) 33.5%

20. Fgfafad &1 IuPAC AT BT

HyC=CH— (l‘H = CHy—CHy; —CH,4
OH

(A) BH-1-39-3-3{Td
(B) §-3-81-1-3iTdl
(©) 1-sdtaurgAra
(D) 3-

21.?@%@?@3@%

: H-OH™
CH;— CH = CH, ——

(A) UTOAT -2-3{fd
(B) UTUHT-1-3Td
(©) 344

(D) AT

22. JfAfpaT &1 IATE FdTd -
(CH,),C-OCH, ——
(A) I TUT QYT
(B) UTUHT-1-3{Td qUT TUTATA
(C) AT quT A Terss
(D) QYIS YT tert SICTUA SMAISISS




23. One important method for preparation of
ether is:
(A Wurtz reaction
(B) Williamson synthesis
(C) Friedel craft's reaction
(D) Etard reaction

24.Which of the following is steam volatile?
(A) o-nitrophenol
(B) p-nitrophenol
(C) o-cresol
(D) hexanol

25. Which of the following has highest acidic
character?
(A) o-nitrophenol
(B) p-nitrophenol
(C) 2,4 -dinitrophenol
(D) 2,4,6-trinitrophenol

26.Which of the following will react faster in
SN2 reaction?
(A) CH5Cl
(B) (CH3),CHCI
(C) CHsl
(D) (CH3)5CCl

27. Which of the following has highest dipole
moment?
(A) Methyl chloride
(B) Methylene chloride
(C) Chloroform
(D) Carbon tetrachloride

28. The products of the following reactions are:

CH.CH,CH,OH +SOCl, ——
(A) CH3CH,CH,Cl + SO, + HCI
(B) CH;CH,OH + H,0 + SO,
(C) CH3CH,CH,SO;H

(D) CH3CH=CH, + SO, + Clz

23. 3R §F S U HedYU! [afd g:-

24. Fafafaa 7 @ o aroxfia 8
(A) o-TrEGITHTeT
(B) p- ST
(C) o-HIId
(D) RIS

25. fafafad 4 9 feye! smiia uspfa
gaffis g2
(A) o—:ﬂg_@'fﬁ?_vljl?{
(B) p- RGBT
(C) 2,4 -

(D) 2,4,6-CISATR I

26. Sy2 MffpaT F ufd FE A A B
oy 3ifYe foraria g2
(A) CH5Cl
(B) (CHs),CHCI
(C) CH;l
(D) (CH53)3CCl

27. FafaRad & 9 frae! fewul sl waifves 82

(A) BT FARTSS
(B) ﬁﬁ%ﬁg@ﬂ%‘s’
(©) TR

(D) BTa CCTHRIRTZS

28. T 3T &1 I &

CH.CH,CH,OH +SOCl, —»
(A) CH3CH,CH,CI + SO, + HCl
(B) CH3CH,OH + H,0 + SO,
(C) CH3CH,CH,SOsH

(D) CHgCHZCHz + SO, + C|2




29. Haloalkanes react with AgCN to give

(A) isocyanide

(B) cyanide

(C) nitro compound
(D) alcohol

30. Which of the following does not exist?
(A) PCls
(B) NCls
(C) AsCls
(D) SbCls

31. Identify the oxoacid in which P exist in +5 state:

(A) HsPO;
(B) H5PO,

(C) HsPO,
(D) H4P>06

32. In nitrate ion (NO3’) , the hybridisation of N is :
(A) sp
(B) sp
Q) sp’
(D) spd

33. Zn is not a transition element because:
(A) it has fulfilled d orbitals
(B) the last electron enters in s orbital
(Q) it has vacant d orbitals
(D) it is not a d block element

34.Which of the following will form coloured
Compounds ?
(A) S
(B) Mn**
(C) Zn**
(D) Ti**

35.The spin only magnetic moment of M** ion
(Z=27) is:
(A) 8.37BM
(B) 3.87BM
(C) 6.92 BM
(D) 1.44BM

29. %Qz%@ﬂ AgCN & 1Y HfNfHaT B
(A) AT S
(B) ©Ig-lgs
(C) TSI Ui
(D) 3feehigel

30. 9 A T fryeT 3ifkia 781 87
(A) PCls
(B) NCls
(C) AsCls
(D) SbCls

31. +5 3RITHIUT TR aTA BIIBRY
& fFtend &l ggam
(A) HsPO;
(B) HsPO,
(C) HsPO,
(D) H4P206

32.913¢e (NO;) 3T B N & THRT TR &:
(A) sp
(B) sp°
(C) sp’
(D) sp’d

33. Zn U YT el § i -
(A) d e guld: WRT g3 §
(B) 3ifcH 3T s H&l A ST §
(C) TP U 30 d- PED &
(D) U8 U d-sd(h dcd e &

34. FgfaRad A @ &F I1 3= T Afe s=rar 872

(A) Sc**
(B) Mn**
(C) Zn**
(D) Ti**

35. M** 3T (z =27) BT D17 3Tl &:

(A) 8.37BM
(B) 3.87BM
(C) 6.92BM
(D) 1.44BM




